s A srmple parrty-check code can detected _________ error-s-, |
~ (i) an even number of (i) two- N
S (111) nO error B ;:‘: o (1v) an odd number Of " ,‘
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" Answer ALL questions - : :
ALL questlons carry EQUAL marks (10 X 1 = 10)

8 Whlch of these is a standard mterface for serial data transmlssron‘? .
~( Ascm . (i) RS232C. |
(111)Z el e (1v) centromcs

o rHow many 1evels Of addressmg are found in TCP/IP ’?
M one . J‘_ R (i) two L
E -“‘(111) three SRR ‘_‘ (1v) four. j_-,/ |

3 ‘Wthh Of the followrng is not a phase Of v1rtual circuit network‘7 »
S (1) setup phase : : (i) data transfer phase '
e (m)termmatron phase e (w) tear down phase

" Whrch mult1plex1ng teehmque used to transmrt drgltal 31gnals‘?
R ()] TDM Lo C@FDM .
'»4'1_"(111)WDM ,_= o (1v) FDM&WDM SR

NThe data sectlon of the frame has an extra byte is called 3
e (1) bit stufﬁng L (11) byte stuffing -
A(lll) escape charter L (i) number stufﬁng

Wthh one Of the fOllowmg is the most common 1nternet protocol?
NOUGHIML “(ii) NetBean
)] TCP/IP o (w) IPX/SPX

| 'The relatronshlp in multlcast commumcatlon is.
~(@)onetoone - . (ii) one to many S
‘.(111) many toone .. - L (1v) many tomany =

-~ ,'v'_;Closed-loop control mechanlsms try to -
(i) remove after congestron occurs . (11) remove after some tn'ne R

L (111) prevent before congestlon Occurs (1v) prevent before sendlng packets |

10 .
(i) client/server = (i) p2p -

FTP is bullt on - ', archltecture o

- >(111)data centrrc I S (IV) service Orlented

wcTUZ2



Lt 11 ‘erte a short note on dlgltal 51gna1
o ,‘-f.f,:’- 13 erte about the standard Ethernet
. 14 Explam the transport seryrces |
s ] ‘, 15 f ,"‘.'bF-l:f'}_Explaln electronlc maﬂ

A vi._'jExplam TCP/IP protocol srte
;Brmg out the features ungulded medla

b- : ‘Sketch on TDM

,'_:;TDrscuss on DNS

) : =Justlfy the ﬂow control procedure in detall "‘ S
jSurnmarres broad-cast routmg in detall e T O
L B (OR) PR Rt
b 'Examlne how drstance vector routmg ﬁnds the path ORI

; ,"Summarlze Cryptography

S ‘if}:_'.Pa__é‘e :

SECTION 1_3_(_5Marks) Sl
AnswerALLquestlons S
ALL questrons carry EQUAL Marks ;. (5 _x}’,S_ ;=,:.2‘5_)-“ L

(OR) ..
(OR)

“(OR)

b ,.j;:--:“tDlscuss Mechamsm error control SRR

R ‘(OR)

" “DISCUSS the addressmg concepts in Network layer

(OR)

SECTION -C (40 Ma )
- Answer ALL questlons

ALL questlons carry EQUAL Marks (5x8=40) NS ER

v "‘Analyse the OSI layer m detall

OR

b leferentlate the process between data and 51gnals m physwal layer

j'Explam & leferentrate FDM & WDM

~(OR)

b vPomt out the fcatures in svvltchmg and 1tstypes B R

nghhght block codlng & c}'chc codmg B : : > SRS S

- (OR)

p A

RO ,,.,:1;' '_ nghllght the features of HTTP & SNHP

| z-z-z- '» . D
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